
  

 Test (CS): The Players

 Question 1a of 25 ( 1 Economic roles 213699 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which group of players provide all goods and services in the game of

economics?

 

 Choice Feedback

A. Consumers.

*B. Producers.
Correct! Producers make all of the goods and services
available to consumers.

C. Media.

D. Researchers.

 

Global Incorrect Feedback

The correct answer is: Producers. Producers
make all of the goods and services available to
consumers.

 Question 1b of 25 ( 1 Economic roles 213700 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which group of players use the goods and services produced in the game of

economics?

 

 Choice Feedback

*A. Consumers.
Correct! Consumers consume goods
and services.

B. Economists.

C. Producers.

D. Workers.

 
Global Incorrect Feedback

The correct answer is: Consumers. Consumers
consume goods and services.

 Question 1c of 25 ( 1 Economic roles 213701 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which group of players in the game of economics both produce and use
goods and services?

 

 Choice Feedback

A. Producers.

*B. Workers. Correct! Workers play a dual role in the
game of economics.

C. Distributors.

D. Consumers.

 

Global Incorrect Feedback

The correct answer is: Workers. Workers play a
dual role in the game of economics.

 Question 2a of 25 ( 2 Economic roles 213702 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following describes the effect of the purchases that consumers

make?

 

 Choice Feedback

A. Provide jobs for distributors.

B. Increase producers' costs.

*C. Indicate their desires to producers.

Correct! Consumers show the producers
what they're willing to buy and the price
they're willing to pay by the purchases they
make.

D. Are not taxed in a free-market system.

 

Global Incorrect Feedback

The correct answer is: Indicate their desires to
producers. Consumers show the producers
what they're willing to buy and the price they're
willing to pay by the purchases they make.

 Question 2b of 25 ( 2 Economic roles 213703 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: In order to know what people want to buy and how much they're willing to
pay, producers pay attention to which of the following?

 

 Choice Feedback

A. Economic indicators.

B. Socialist planning.

C. Resource allocations.

*D. Consumers' purchases.

Correct! Consumers show the producers
what they're willing to buy and the price
they're willing to pay by the purchases they
make.

 

Global Incorrect Feedback

The correct answer is: Consumers' purchases.
Consumers show the producers what they're
willing to buy and the price they're willing to pay
by the purchases they make.

 Question 2c of 25 ( 2 Economic roles 213704 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Consumers influence the decisions of producers in which of the following
ways?

 

 Choice Feedback

*A. Through the purchasing decisions they make.

Correct! Consumers show the producers
what they're willing to buy and the price
they're willing to pay by the purchases they
make.

B. Only in a planned economy.

C. Because consumers are also workers.

D. By setting prices for natural resources.

 

Global Incorrect Feedback

The correct answer is: Through the purchasing
decisions they make. Consumers show the
producers what they're willing to buy and the
price they're willing to pay by the purchases
they make.

 Question 3a of 25 ( 2 Economic roles 213706 )

 Maximum Attempts: 1

 Question Type: Text Fill In Blank

 Maximum Score: 2

 Is Case Sensitive: false

 Correct Answer: worker, workers

 Question: In the game of economics, ____________ play a double role as both
consumers and producers.

 
Attempt Incorrect Feedback

1st

 

 Correct Feedback

 
Correct! Workers straddle the line between
consumers and producers.

 

 Global Incorrect Feedback

 
The correct answer is: workers. Workers
straddle the line between consumers and
producers.

 Question 3b of 25 ( 2 Economic roles 213707 )

 Maximum Attempts: 1

 Question Type: Text Fill In Blank

 Maximum Score: 2

 Is Case Sensitive: false

 Correct Answer: producers

 
Question: In the game of economics, workers play a double role, functioning as both

consumers and ___________.

 
Attempt Incorrect Feedback

1st

 

 Correct Feedback

 
Correct! Workers straddle the line between
consumers and producers.

 

 Global Incorrect Feedback

 
The correct answer is: producers. Workers
straddle the line between consumers and
producers.

 Question 3c of 25 ( 2 Economic roles 213708 )

 Maximum Attempts: 1

 Question Type: Text Fill In Blank

 Maximum Score: 2

 Is Case Sensitive: false

 Correct Answer: consumers

 
Question: In the game of economics, workers are the players who function as both

producers and _________.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 
Correct! Workers straddle the line between
consumers and producers.

 

 Global Incorrect Feedback

 
The correct answer is: consumers. Workers
straddle the line between consumers and
producers.

 Question 4a of 25 ( 3 Economic roles 213709 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match the role with the actions taken by players in that role.

 Choice Text
Correct
Match   Match Text

 A. Consumer. B. Provides goods and services.

 B. Producer. A. Uses goods and services.

 C. Worker. C. Creates goods and services.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 
The correct answer is: Consumer : Uses goods
and services; Producer : Provides goods and
services; Worker : Creates goods and services.

 Question 4b of 25 ( 3 Economic roles 213710 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match the activity with the correct role.

 Choice Text
Correct
Match   Match Text

 A. Buys and uses goods. A. Consumer

 B. Provides and distributes goods. B. Producer

 C. Makes goods. C. Worker

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 
The correct answer is: Buys and uses goods :
Consumer; Provides and distributes goods :
Producer; Makes goods : Worker.

 Question 4c of 25 ( 3 Economic roles 213711 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match the role with the correct example of someone playing that role.

 Choice Text
Correct
Match   Match Text

 A. Consumer C. Waiter

 B. Producer B. Restaurant owner

 C. Worker A. Restaurant patron

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 
The correct answer is: Consumer : Restaurant
patron; Producer : Restaurant owner; Worker :
Waiter.

 Question 5a of 25 ( 2 Consumer influences 213713 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following statements best explains the purpose of market

research?

 

 Choice Feedback

*A. Market research helps producers earn more
profits.

Correct! Producers use market research to
figure out what consumers want so that they
can sell more and make more profit.

B. Market research leads to efficient production.

C. Market research keeps the economy growing.

D. Market research gives consumers reliable product
information.

 

Global Incorrect Feedback

The correct answer is: Market research helps
producers earn more profits. Producers use
market research to figure out what consumers
want so that they can sell more and make more
profit.

 Question 5b of 25 ( 2 Consumer influences 213714 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following statements best explains why producers conduct

market research?

 

 Choice Feedback

A.
Producers are strongly motivated to keep costs
low so that their revenues are higher.

*B.
Producers need to know what consumers want so
they can sell more and make more profit.

Correct! Market research tells producers
what consumers are going to buy and what
they're willing to pay for it.

C.
Producers are concerned about respecting the
cultural values of a diverse group of consumers.

D.
Producers want to know what other producers are
doing so they can copy efficient production
methods.

 

Global Incorrect Feedback

The correct answer is: Producers need to know
what consumers want so they can sell more
and make more profit. Market research tells
producers what consumers are going to buy
and what they're willing to pay for it.

 Question 5c of 25 ( 2 Consumer influences 213715 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following statements best describes the results provided by
market research?

 

 Choice Feedback

A. Market research allows producers to create trends
that lead to more sales.

B.
Market research helps producers understand
market forces better.

*C.
Market research tells producers what consumers
want and what they're willing to pay.

Correct! Market research gives producers an
idea of how consumers will behave.

D. Market research lets producers predict what laws
the government is planning to make.

 

Global Incorrect Feedback

The correct answer is: Market research tells
producers what consumers want and what
they're willing to pay. Market research gives
producers an idea of how consumers will
behave.

 Question 6a of 25 ( 3 Consumer influences 213721 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match each action with the type of consumer influence it represents.

 Choice Text
Correct
Match   Match Text

 A. Buying pre-faded jeans because everyone else is doing it. B. Peer pressure

 B. Buying pre-faded jeans because all of your friends have
them.

C. Price

 
C. Buying pre-faded jeans because they're less expensive
than other jeans. A. Trend

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answer is: Buying pre-faded jeans
because everyone else is doing it: Trend;
Buying pre-faded jeans because all of your
friends have them: Peer pressure; Buying pre-
faded jeans because they're less expensive
than other jeans: Price.

 Question 6b of 25 ( 3 Consumer influences 213722 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match each action with the type of consumer influence it represents.

 Choice Text
Correct
Match   Match Text

 A. Reusing goods to conserve on resources. A. Environmental.

 B. Reducing your use of paper napkins to save money. C. Peer pressure.

 C. Recycling because everyone in your family does. B. Price.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answer is: Reusing goods to
conserve on resources : Environmental;
Reducing your use of paper napkins to save
money : Price; Recycling because everyone in
your class does it : Peer pressure.

 Question 6c of 25 ( 3 Consumer influences 213723 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match each action with the type of consumer influence it represents.

 Choice Text
Correct
Match

  Match Text

 A. Buying presents for your friends' birthdays. A. Cultural.

 B. Buying an iPod because everyone has one. B. Trend.

 C. Buying a used car to save money. C. Price.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answer is: Buying presents for your
friends' birthdays : Cultural; Buying an iPod
because everyone has one : Trend; Buying a
used car to save money : Price.

 Question 7a of 25 ( 2 Budgeting and decision-making 213724 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is an example of an action that is part of making a
rational choice?

 

 Choice Feedback

A. Expanding your discretionary spending.

B. Adding up your assets.

C. Calculating flexible and fixed expenses.

*D. Doing a cost-benefit analysis.
Correct! A rational choice is a decision based
on comparing the benefits and costs of an
action.

 

Global Incorrect Feedback

The correct answer is: Doing a cost-benefit
analysis. A rational choice is a decision based
on comparing the benefits and costs of an
action.

 Question 7b of 25 ( 2 Budgeting and decision-making 213725 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following actions provides the most help for making a rational

choice?

 

 Choice Feedback

*A. Engaging in financial planning.
Correct! Financial planning is useful for
devising a rational strategy for reaching
economic goals.

B. Setting up an assembly line.

C. Establishing a distribution network.

D. Fighting against government regulation.

 

Global Incorrect Feedback

The correct answer is: Engaging in financial
planning. Financial planning is useful for
devising a rational strategy for reaching
economic goals.

 Question 7c of 25 ( 2 Budgeting and decision-making 213726 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is an essential part of making a rational choice?

 

 Choice Feedback

A. Balancing financial and non-financial goals.

*B. Conducting a cost-benefit analysis.
Correct! A rational choice is a decision based
on comparing the benefits and costs of an
action.

C. Calculating monetary values.

D. Evening out utilities.

 

Global Incorrect Feedback

The correct answer is: Conducting a cost-
benefit analysis. A rational choice is a decision
based on comparing the benefits and costs of
an action.

 Question 8a of 25 ( 2 Budgeting and decision-making 213727 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: A budget is used to do which of the following?

 

 Choice Feedback

*A. Plan income and expenses.
Correct! A budget is a plan that keeps
expenses less than income.

B. Help get a better loan.

C. Eliminate opportunity costs.

D. Keep track of rising and falling prices.

 

Global Incorrect Feedback

The correct answer is: Plan income and
expenses. A budget is a plan that keeps
expenses less than income.

 Question 8b of 25 ( 2 Budgeting and decision-making 213728 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: People use budgets in order to help them with which of the following?

 

 Choice Feedback

A. Eliminate opportunity costs.

B. Reduce their credit rating.

*C. Their financial goals. Correct! A budget can help keep expenses
below income, which leads to savings.

D. Plan for changes in tax laws.

 

Global Incorrect Feedback

The correct answer is: Their financial goals. A
budget can help keep expenses below income,
which leads to savings.

 Question 8c of 25 ( 2 Budgeting and decision-making 213729 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Budgeting helps consumers reach their financial goals by helping them do

which of the following?

 

 Choice Feedback

A. Conserve on scarce natural resources.

*B. Keep their expenses below their income.
Correct! Reaching financial goals requires
saving money.

C. Find the lowest prices for goods and services.

D. Weigh the information needed to make rational
decisions.

 

Global Incorrect Feedback

The correct answer is: Keep their expenses
below their income. Reaching financial goals
requires saving money.

 Question 9a of 25 ( 1 Utility and risk-aversion 213730 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: The personal satisfaction someone gets from consuming goods and services
is known as which of the following?

 

 Choice Feedback

A. Preference.

B. Money.

C. Outcomes.

*D. Utility.
Correct! Utility is the concept that economists use to
measure a person's satisfaction with the outcomes they
get from consumption.

 

Global Incorrect Feedback

The correct answer is: Utility. Utility is the
concept that economists use to measure a
person's satisfaction with the outcomes they
get from consumption.

 Question 9b of 25 ( 1 Utility and risk-aversion 213731 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is measured by utility?

 

 Choice Feedback

A. The cost of adding a single unit of something.

B. The difference between revenue and costs.

*C. The satisfaction a person gets from consumption.
Correct! Utility is a person's satisfaction with
the outcomes he or she gets from using
goods and services.

D. The most efficient way of organizing production.

 

Global Incorrect Feedback

The correct answer is: The satisfaction a person
gets from consumption. Utility is a person's
satisfaction with the outcomes he or she gets
from using goods and services.

 Question 9c of 25 ( 1 Utility and risk-aversion 213732 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following is used by economists to measure the satisfaction a

person gets from the use or consumption of goods and services?

 

 Choice Feedback

*A. The concept of utility.
Correct! Utility is a person's satisfaction with
the outcomes they get from using goods and
services.

B. Marginal analysis.

C. A cost-benefit ratio.

D. Non-monetary costs and benefit.

 

Global Incorrect Feedback

The correct answer is: The concept of utility.
Utility is a person's satisfaction with the
outcomes they get from using goods and
services.

 Question 10a of 25 ( 1 Vocabulary 213733 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match each term with its definition.

 Choice Text Correct
Match

  Match Text

 A. Discretionary spending. D. Reluctance for taking chances.

 B. Marginal analysis. A. Money for buying whatever you want.

 C. Rational choice. C. A decision-making method that compares costs and benefits.

 D. Risk aversion. B. Weighing the extra costs and benefits of one more unit of
something.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answer is: Discretionary spending :
Money for buying whatever you want; Marginal
analysis : Weighing the extra costs and benefits
of one more unit of something; Rational choice :
A decision-making method that compares costs
and benefits; Risk aversion : Reluctance for
taking chances.

 Question 10b of 25 ( 1 Vocabulary 213734 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match each term with its definition.

 Choice Text Correct
Match

  Match Text

 A. Financial planning. D. Personal satisfaction gained from consumption.

 B. Rational choice. C. Reluctance for taking chances.

 C. Risk aversion. B. A decision-making method that compares costs and benefits.

 D. Utility. A. A strategy to save for financial goals.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answer is: Financial planning : A
strategy to save for financial goals; Rational
choice : A decision-making method that
compares costs and benefits; Risk aversion :
Reluctance for taking chances; Utility : Personal
satisfaction gained from consumption.

 Question 10c of 25 ( 1 Vocabulary 213735 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match each term with its correct definition.

 Choice Text Correct
Match

  Match Text

 A. Financial planning. A. A strategy to save for financial goals.

 B. Opportunity cost. B.
The best alternative given up when making a certain
decision.

 C. Risk aversion. C. Reluctance for taking chances.

 D. Utility. D. Personal satisfaction gained from consumption.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answer is: Financial planning : A
strategy to save for financial goals; Opportunity
cost : The best alternative given up when
making a certain decision; Risk aversion :
Reluctance for taking chances; Utility : Personal
satisfaction gained from consumption.

 Question 11a of 25 ( 3 Utility and risk-aversion 213736 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following statements best explains why some people get life

insurance and others don't?

 

 Choice Feedback

A. Life insurance is a cost that has no direct benefit.

*B.
Different people are willing to face different kinds
of risks.

Correct! The amount of risk a person is
willing to face differs from person to person.

C. Some people have more than one life-insurance
policy.

D. Some life insurance companies go out of business
before you die.

 

Global Incorrect Feedback

The correct answer is: Different people are
willing to face different kinds of risks. The
amount of risk a person is willing to face differs
from person to person.

 Question 11b of 25 ( 3 Utility and risk-aversion 213737 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following statements best explains why some people are more

committed to saving for retirement than other people?

 

 Choice Feedback

*A. Different people look at future risks differently.
Correct! The commitment to save for
retirement is partly a result of a person's
level of risk aversion.

B. Some people don't think they'll need to retire.

C. Not everyone will need money in order to survive
during retirement.

D.
Many people move from one job to another many
times before retiring.

 

Global Incorrect Feedback

The correct answer is: Different people look at
future risks differently. The commitment to save
for retirement is partly a result of a person's
level of risk aversion.

 Question 11c of 25 ( 3 Utility and risk-aversion 213738 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following best explains why some people consider it foolish to

gamble while other people like to gamble?

 

 Choice Feedback

A.
Some people don't understand how to play the
game.

B. Gambling isn't legal in every state.

*C. Gambling involves too much risk for some people.
Correct! Different people have different
levels of risk aversion, and this partly
determines their attitude towards gambling.

D. Some people are able to win money at gambling.

 

Global Incorrect Feedback

The correct answer is: Gambling involves too
much risk for some people. Different people
have different levels of risk aversion, and this
partly determines their attitude towards
gambling.

 Question 12a of 25 ( 2 Consumer influences 213739 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is a way that the media influences consumer behavior?

 

 Choice Feedback

*A. Product placement.

Correct! By paying to have their products
shown on TV and in movies, companies can
get messages about these products to
potential buyers.

B. Marginal analysis.

C. Rational choice.

D. Risk aversion.

 

Global Incorrect Feedback

The correct answer is: Product placement. By
paying to have their products shown on TV and
in movies, companies can get messages about
these products to potential buyers.

 Question 12b of 25 ( 2 Consumer influences 213740 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following is a technique advertisers employ to increase consumer

demand for their goods and services?

 

 Choice Feedback

A.
Branding a product based on a negative news
story.

B. Making sure that there are only benefits.

C. Selling goods for less than they cost to produce.

*D. Turning luxuries into necessities.
Correct! When luxuries are turned into
necessities, more people will need and want
to buy them.

 

Global Incorrect Feedback

The correct answer is: Turning luxuries into
necessities. When luxuries are turned into
necessities, more people will need and want to
buy them.

 Question 12c of 25 ( 2 Consumer influences 213741 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following is a way that companies attempt to get consumers to

buy their products instead of their competitor's products?

 

 Choice Feedback

A. Marginal analysis.

B. Sabotage.

*C. Branding.

Correct! When a company is successfully able
to associate its product with quality and
popularity, it will sell more than its
competitors.

D. Market research.

 

Global Incorrect Feedback

The correct answer is: Branding. When a
company is successfully able to associate its
product with quality and popularity, it will sell
more than its competitors.

 Question 13a of 25 ( 2 The media 213742 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: The purpose of the news media is to do which of the following?

 

 Choice Feedback

A. Enable advertising.

B. Entertain people.

C. Warn about dangers.

*D. Provide information.
Correct! The news media is supposed to
provide people with the information they
need to make well-informed decisions.

 

Global Incorrect Feedback

The correct answer is: Provide information. The
news media is supposed to provide people with
the information they need to make well-
informed decisions.

 Question 13b of 25 ( 2 The media 213743 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: The purpose of advertising is to do which of the following?

 

 Choice Feedback

A. Provide information.

B. Influence market research.

*C. Increase consumer demand.
Correct! Companies use advertising to
increase consumer demand so that they can
sell more and make more money.

D. Warn about dangers.

 

Global Incorrect Feedback

The correct answer is: Increase consumer
demand. Companies use advertising to increase
consumer demand so that they can sell more
and make more money.

 Question 13c of 25 ( 2 The media 213744 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: The purpose of branding is to do which of the following?

 

 Choice Feedback

*A. Create a positive association.
Correct! Products that are successfully
branded get consumers to associate them
with quality and popularity.

B. Allocate resources.

C. Warn about dangers.

D. Differentiate products.

 

Global Incorrect Feedback

The correct answer is: Create a positive
association. Products that are successfully
branded get consumers to associate them with
quality and popularity.

 Question 14a of 25 ( 1 Profit and the profit motive 213745 )

 Maximum Attempts: 1

 Question Type: Text Fill In Blank

 Maximum Score: 2

 Is Case Sensitive: false

 Correct Answer: profit, profits

 Question: Subtracting costs from revenue calculates ______________.

 
Attempt Incorrect Feedback

1st

 

 Correct Feedback

 
Correct! Profit is calculated by subtracting costs
from revenues.

 

 Global Incorrect Feedback

 
The correct answer is: profit. Profit is calculated
by subtracting costs from revenues.

 Question 14b of 25 ( 1 Profit and the profit motive 213746 )

 Maximum Attempts: 1

 Question Type: Text Fill In Blank

 Maximum Score: 2

 Is Case Sensitive: false

 Correct Answer: revenue, revenues

 Question: Profit is calculated by subtracting costs from ______________.

 
Attempt Incorrect Feedback

1st

 

 Correct Feedback

 
Correct! Profit is what is left over after costs are
taken out of revenues.

 

 Global Incorrect Feedback

 The correct answer is: revenue. Profit is what is
left over after costs are taken out of revenues.

 Question 14c of 25 ( 1 Profit and the profit motive 213747 )

 Maximum Attempts: 1

 Question Type: Text Fill In Blank

 Maximum Score: 2

 Is Case Sensitive: false

 Correct Answer: costs, cost

 Question: Profit is calculated by subtracting _______ from revenues.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct! Profit is what is left over after costs are
taken out of revenues.

 

 Global Incorrect Feedback

 
The correct answer is: costs. Profit is what is
left over after costs are taken out of revenues.

 Question 15a of 25 ( 2 Profit and the profit motive 213748 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: In a free-market system, producers are most strongly driven by which of the
following?

 

 Choice Feedback

A. Government planning.

B. Coercion.

C. Utility satisfaction.

*D. The profit motive.
Correct! The desire for profit is the strongest
motivation of producers in a free-market
system.

 

Global Incorrect Feedback

The correct answer is: The profit motive. The
desire for profit is the strongest motivation of
producers in a free-market system.

 Question 15b of 25 ( 2 Profit and the profit motive 213749 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: In a free-market system, the profit motive motivates producers to do which of

the following?

 

 Choice Feedback

*A. Minimize costs and maximize revenues.
Correct! Profit is the difference between
costs and revenue, so reducing costs and
increasing revenues leads to greater profit.

B. Establish monopolistic competition.

C. Specialize in providing a single good or service.

D.
Produce as many different goods and services as
they can.

 

Global Incorrect Feedback

The correct answer is: Minimize costs and
maximize revenues. Profit is the difference
between costs and revenue, so reducing costs
and increasing revenues leads to greater profit.

 Question 15c of 25 ( 2 Profit and the profit motive 213750 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: In a free-market system, producers are motivated to reduce costs and

increase revenues because of which of the following?

 

 Choice Feedback

A. Marginal analysis.

*B. The profit motive.

Correct! The quest for profit drives producers
in a free-market system, and profit is
calculated by subtracting costs from
revenues.

C. Opportunity costs.

D. The production possibilities frontier.

 

Global Incorrect Feedback

The correct answer is: The profit motive. The
quest for profit drives producers in a free-
market system, and profit is calculated by
subtracting costs from revenues.

 Question 16a of 25 ( 2 Market structures 213751 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following best states the main difference between a monopoly

and monopolistic competition?

 

 Choice Feedback

A.
Monopolies involve a much lower level of
competition than monopolistic competition.

B.
Monopolistic competition involves corporations and
oligopolies while monopolies involve only
corporations.

*C.
Monopolistic competition involves slightly
differentiated products while monopoly involves a
single product.

Correct! In a monopoly, there is only one
product offered by one seller, while a
monopolistic competition has many very
similar but slightly different products.

D. Both monopolies and near monopolies can exist
with a certain low level of competition.

 

Global Incorrect Feedback

The correct answer is: Monopolistic competition
involves slightly differentiated products while
monopoly involves a single product. In a
monopoly, there is only one product offered by
one seller, while a monopolistic competition has
many very similar but slightly different products.

 Question 16b of 25 ( 2 Market structures 213752 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following best states the main difference between a monopoly

and an oligopoly?

 

 Choice Feedback

*A.
Oligopolies involve more than one company while
monopolies involve only one.

Correct! An oligopoly is a market structure
with a small number of companies while a
monopoly is a market structure with only a
single company.

B. Neither a monopoly nor an oligopoly presents
significant barriers to entering the industry.

C.
Both monopolies and oligopolies involve a very
low level of competition.

D.
Monopolies have a slightly lower level of market
concentration than oligopolies.

 

Global Incorrect Feedback

The correct answer is: Oligopolies involve more
than one company while monopolies involve
only one. An oligopoly is a market structure with
a small number of companies while a monopoly
is a market structure with only a single
company.

 Question 16c of 25 ( 2 Market structures 213753 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following best states the main difference between a monopoly

and pure competition?

 

 Choice Feedback

*A.
A monopoly involves no competition at all while
pure competition involves a high level of
competition.

Correct! Monopoly and pure competition are
two opposite extremes.

B.
A market structure with pure competition is much
easier to establish than a monopoly.

C. Both monopolies and pure competition involve
multiple sellers with undifferentiated products.

D.
A monopoly is only possible in a mixed economy
while pure competition is only possible in a free-
market system.

 

Global Incorrect Feedback

The correct answer is: A monopoly involves no
competition at all while pure competition
involves a high level of competition. Monopoly
and pure competition are two opposite
extremes.

 Question 17a of 25 ( 1 The media 213755 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Media companies make all of their revenue using which of the following
methods?

 

 Choice Feedback

*A. Selling ads and subscriptions.
Correct! Media companies make money from
advertisers and users.

B. Recycling old programming.

C. Making capital investments.

D. Buying low and selling high.

 

Global Incorrect Feedback

The correct answer is: Selling ads and
subscriptions. Media companies make money
from advertisers and users.

 Question 17b of 25 ( 1 The media 213756 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Advertising is the main source of revenue for which of the following?

 

 Choice Feedback

A. Retail stores.

B. The airline industry.

C. Electronics manufacturers.

*D. Media companies.
Correct! Media companies make 90 percent
of their revenues from advertising and the
rest from subscriptions.

 

Global Incorrect Feedback

The correct answer is: Media companies. Media
companies make 90 percent of their revenues
from advertising and the rest from
subscriptions.

 Question 17c of 25 ( 1 The media 213757 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Media companies earn money by selling which of the following?

 

 Choice Feedback

A. Airtime to media conglomerates.

B. Services to local cable companies.

*C. Advertisements and subscriptions.
Correct! Media companies make 90 percent
of their revenues from advertising and the
rest from subscriptions.

D. Directly to consumers.

 

Global Incorrect Feedback

The correct answer is: Advertisements and
subscriptions. Media companies make 90
percent of their revenues from advertising and
the rest from subscriptions.

 Question 18a of 25 ( 2 The media 213758 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best describes the purpose of advertising?

 

 Choice Feedback

A. To increase subscription prices.

*B. To transmit product messages to an audience.

Correct! Advertisements purchase the
attention of an audience so that companies
can get messages about their products to
potential customers.

C. To generate high-quality content.

D. To balance programming schedules.

 

Global Incorrect Feedback

The correct answer is: To transmit product
messages to an audience. Advertisements
purchase the attention of an audience so that
companies can get messages about their
products to potential customers.

 Question 18b of 25 ( 2 The media 213759 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following explains why companies spend money on advertising?

 

 Choice Feedback

A. Media companies can fill empty space by selling
advertisements.

*B.
Companies want to influence consumer behavior
through advertising.

Correct! Advertisements purchase the
attention of an audience so that companies
can get messages about their products
across to potential customers.

C. Interesting advertisements lead to higher
circulation and better ratings.

D.
Advertising allows companies to motivate workers
to be more efficient.

 

Global Incorrect Feedback

The correct answer is: Companies want to
influence consumer behavior through
advertising. Advertisements purchase the
attention of an audience so that companies can
get messages about their products across to
potential customers.

 Question 18c of 25 ( 2 The media 213760 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best states one effect of advertising?

 

 Choice Feedback

*A. Consumer behavior is influenced.
Correct! Companies advertise in order to
influence the behavior of consumers.

B. Media revenues exceed costs.

C. Stockholders have a high level of utility.

D. Market research becomes more accurate.

 

Global Incorrect Feedback

The correct answer is: Consumer behavior is
influenced. Companies advertise in order to
influence the behavior of consumers.

 Question 19a of 25 ( 2 Market structures 213761 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best explains why the media industry is characterized
by an oligopolistic market structure?

 

 Choice Feedback

A. Government licensing allows media companies to
have a near monopoly.

B.
It is impossible for any company to compete with a
local media company.

*C. Centralization of ownership has led to an industry
controlled by a few large companies.

Correct! Nearly all of the media industry is
controlled by a few large companies, and
there are significant barriers to entry in this
market.

D.
There are many innovative entrepreneurs in the
media.

 

Global Incorrect Feedback

The correct answer is: Centralization of
ownership has led to an industry controlled by a
few large companies. Nearly all of the media
industry is controlled by a few large companies,
and there are significant barriers to entry in this
market.

 Question 19b of 25 ( 2 Market structures 213762 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: The media industry is characterized by an oligopolistic market structure
because of which of the following?

 

 Choice Feedback

*A. Centralization of ownership.
Correct! Nearly all of the media industry is
controlled by a few large companies that
own a variety of media sources.

B. Government agencies.

C. The Internet revolution.

D. Innovative entrepreneurs.

 

Global Incorrect Feedback

The correct answer is: Centralization of
ownership. Nearly all of the media industry is
controlled by a few large companies that own a
variety of media sources.

 Question 19c of 25 ( 2 Market structures 213763 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is the market structure of the media industry?

 

 Choice Feedback

*A. Oligopoly.

Correct! Nearly all of the media industry is
controlled by a few large companies, and
there are significant barriers to entry in this
market.

B. Monopoly.

C. Monopolistic competition.

D. Pure competition.

 

Global Incorrect Feedback

The correct answer is: Oligopoly. Nearly all of
the media industry is controlled by a few large
companies, and there are significant barriers to
entry in this market.

 Question 20a of 25 ( 2 Businesses and partnerships 213764 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Unlike a limited partnership, a general partnership has which of the following?

 

 Choice Feedback

*A. Unlimited liability for all partners.

Correct! Limited partnerships protect each
partner against full responsibility for the
business's debts while general partnerships
make each partner fully responsible for all
debts.

B. Stockholders and a board of directors.

C. Option to declare bankruptcy without penalty.

D. An unlimited number of partners.

 
Global Incorrect Feedback

The correct answer is: Unlimited liability for all
partners.

 Question 20b of 25 ( 2 Businesses and partnerships 213765 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is one important difference between a general
partnership and a limited partnership?

 

 Choice Feedback

A. A limited partnership allows some business
decisions to be made individually.

*B. Every partner in a general partnership is fully
responsible for the business's debts.

Correct! A general partnership has unlimited
liability for each partner.

C.
The partners in a limited partnership may only
own a small percentage of the company's stock.

D.
A limited partnership makes a single partner fully
responsible for all of the business's debts.

 

Global Incorrect Feedback

The correct answer is: Every partner in a
general partnership is fully responsible for the
business's debts.

 Question 20c of 25 ( 2 Businesses and partnerships 213766 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: A general partnership differs from a sole proprietorship because a general
partnership is characterized by which of the following?

 

 Choice Feedback

A. Serves its members rather than making a profit.

B. Is run by a board of directors.

C. Has unlimited liability for the owners.

*D. Requires collective decision-making.

Correct! Partnerships require the partners to
work together to make all business decisions
while a sole proprietor makes all of the
decisions him or herself.

 

Global Incorrect Feedback

The correct answer is: Requires collective
decision-making.

 Question 21a of 25 ( 1 Businesses and partnerships 213770 )

 Maximum Attempts: 1

 Question Type: Text Fill In Blank

 Maximum Score: 2

 Is Case Sensitive: false

 Correct Answer: corporation

 Question: A business owned by stockholders is known as a _______________.

 
Attempt Incorrect Feedback

1st

 

 Correct Feedback

 
Correct! Stockholders own shares of the
corporation much the way partners own a
portion of a partnership.

 

 Global Incorrect Feedback

 

The correct annswer is: corporation.
Stockholders own shares of the corporation
much the way partners own a portion of a
partnership.

 Question 21b of 25 ( 1 Businesses and partnerships 213771 )

 Maximum Attempts: 1

 Question Type: Text Fill In Blank

 Maximum Score: 2

 Is Case Sensitive: false

 Correct Answer: stockholders, stockholder

 Question: A corporation is owned by _______________.

 
Attempt Incorrect Feedback

1st

 

 Correct Feedback

 
Correct! Stockholders own shares of the
corporation much the way partners own a
portion of a partnership.

 

 Global Incorrect Feedback

 

The correct answer is: stockholders.
Stockholders own shares of the corporation
much the way partners own a portion of a
partnership.

 Question 21c of 25 ( 1 Businesses and partnerships 213772 )

 Maximum Attempts: 1

 Question Type: Text Fill In Blank

 Maximum Score: 2

 Is Case Sensitive: false

 Correct Answer: stockholders

 Question: A corporation gives out its profits as dividends paid to its ______________.

 
Attempt Incorrect Feedback

1st

 

 Correct Feedback

 
Correct! Stockholders are paid a dividend for
each of the shares they own.

 

 Global Incorrect Feedback

 
The correct answer is: stockholders.
Stockholders are paid a dividend for each of the
shares they own.

 Question 22a of 25 ( 3 Businesses and partnerships 213773 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is an advantage corporations enjoy over partnerships?

 

 Choice Feedback

A.
Corporations involve less paperwork and fewer
management fees.

B. The taxes paid by a corporation are generally
much smaller.

*C.
The owners of a corporation don't have to work
together to make all of the business decisions.

Correct! The stockholders of a corporation
choose a board of directors to manage the
daily business of the company.

D.
Partnerships cannot protect their investors
against being responsible for business debts.

 

Global Incorrect Feedback

The correct answer is: The owners of a
corporation don't have to work together to
make all of the business decisions. The
stockholders of a corporation choose a board of
directors to manage the daily business of the
company.

 Question 22b of 25 ( 3 Businesses and partnerships 213774 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following is an advantage corporations enjoy over sole

proprietorships?

 

 Choice Feedback

*A. Corporations have an easier time raising money to
start or expand a business.

Correct! By selling stock to many investors, a
corporation can raise money much more
easily than a sole proprietor.

B.
The taxes paid by a corporation are generally
much smaller.

C. Sole proprietors have to abide by the decisions of
a board of directors.

D.
The investors in a corporation get to make all of
the business decisions themselves.

 

Global Incorrect Feedback

The correct answer is: Corporations have an
easier time raising money to start or expand a
business. By selling stock to many investors, a
corporation can raise money much more easily
than a sole proprietor.

 Question 22c of 25 ( 3 Businesses and partnerships 213775 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following is an advantage the owners of a sole proprietorship

enjoy over the owners of a corporation?

 

 Choice Feedback

A.
Sole proprietors have an easier time raising
money to start or expand their business.

B. Sole proprietors don't have to pay any taxes on
their profits.

C. Sole proprietors are supported by stockholders
and a board of directors.

*D. Sole proprietors get to make all of the business
decisions themselves.

Correct! The owners of a corporation are not
involved in the daily business of the company
they own.

 

Global Incorrect Feedback

The correct answer is: Sole proprietors get to
make all of the business decisions themselves.
The owners of a corporation are not involved in
the daily business of the company they own.

 Question 23a of 25 ( 3 Businesses and partnerships 214109 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following types of business is most likely to use the bricks and
clicks business model?

 

 Choice Feedback

*A. Clothing sellers. Correct! Clothing companies often sell
both in stores and online.

B. Newspapers.

C. Grocery stores.

D. Construction companies.

 

Global Incorrect Feedback

The correct answer is: Clothing sellers. Clothing
companies often sell both in stores and online.
Clothing companies often sell both in stores and
online.

 Question 23b of 25 ( 3 Businesses and partnerships 450740 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following types of business is most likely to use the cutting out

the middleman business model?

 

 Choice Feedback

A. Clothing sellers.

B. Magazines.

C. Retail stores.

*D. Computer companies.
Correct! Computer companies often build
computers directly for customers without
buying from a supplier.

 

Global Incorrect Feedback

The correct answer is: Computer companies.
Computer companies often build computers
directly for customers without buying from a
supplier.

 Question 23c of 25 ( 3 Businesses and partnerships 214111 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following types of business is most likely to use the subscription

business model?

 

 Choice Feedback

*A. Newspapers.
Correct! Newspapers sell many copies to
customers who have subscriptions.

B. Retail stores.

C. Furniture sellers.

D. Clothing companies.

 

Global Incorrect Feedback

The correct answer is: Newspapers.
Newspapers sell many copies to customers who
have subscriptions.

 Question 24a of 25 ( 3 Google business model 213783 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following generates revenue for Google?

 

 Choice Feedback

*A. The sale of advertisements.
Correct! Google sells ads that are
targeted by keywords.

B. The sale of computers.

C. The sale of books and records.

D. The sale of electronic equipment.

 

Global Incorrect Feedback

The correct answer is: The sale of
advertisements. Google sells ads that are
targeted by keywords.

 Question 24b of 25 ( 3 Google business model 213784 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Google generates revenue in the same way as companies in which industry?

 

 Choice Feedback

*A. Media.
Correct! Like media companies, Google relies
on the sale of advertisements to make
money.

B. Distribution.

C. E-commerce.

D. Retail.

 

Global Incorrect Feedback

The correct answer is: Media. Like media
companies, Google relies on the sale of
advertisements to make money.

 Question 24c of 25 ( 3 Google business model 213785 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Google's business model is the most similar to that used by companies in

which industry?

 

 Choice Feedback

*A. Media.
Correct! Like media companies, Google relies on the sale
of advertisements to make money.

B. Manufacturing.

C. Retail.

D. Shipping.

 

Global Incorrect Feedback

The correct answer is: Media. Like media
companies, Google relies on the sale of
advertisements to make money.

 Question 25a of 25 ( 3 Google and branding 214112 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best demonstrates how successful Google has been at
establishing a well-known brand?

 

 Choice Feedback

A. Google is used by people around the world.

*B. The word "google" has been added to
dictionaries.

Correct! Google is a household word often
used to mean "search the Internet."

C. Google has a relaxed and non-traditional
corporate culture.

D.
Many Internet companies want partnerships with
Google.

 

Global Incorrect Feedback

The correct answer is: The word "google" has
been added to dictionaries. Google is a
household word often used to mean "search
the Internet."

 Question 25b of 25 ( 3 Google and branding 214113 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is an example of a successful effort at branding?

 

 Choice Feedback

*A.
The word "google" has been added to the
dictionary.

Correct! Google is a household word often
used to mean "search the Internet."

B.
E-commerce is growing faster than any other form
of business.

C. Zappos has grown from a tiny company to a large
company very quickly.

D.
Amazon has expanded from selling books to
selling many different products.

 

Global Incorrect Feedback

The correct answer is: The word "google" has
been added to the dictionary. Google is a
household word often used to mean "search
the Internet."

 Question 25c of 25 ( 3 Google and branding 214114 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following statements explains how "google" has become a

household word?

 

 Choice Feedback

A.
The term "google" was invented after the
company conducted extensive market research.

B. Millions of people identify with and approve of the
motto "Don't Be Evil."

*C.
Google has been successful at associating its
service with the generic act of searching the
Internet.

Correct! Google has benefited from
successful branding that has associated the
company with popularity and quality.

D.
The relaxed corporate culture and its non-
traditional business model are well-known facts
about Google.

 

Global Incorrect Feedback

The correct answer is: Google has been
successful at associating its service with the
generic act of searching the Internet. Google
has benefited from successful branding that has
associated the company with popularity and
quality.

Preview Page 1 of 1

D:\clases\Economics\2.5.2.mht 02/04/2012


